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Objectives

« Understand why Britan was the starting paint
for the Industrial Revalution,

« Descrbe the changes that tansformed the
tentie industy.

« Explain the sgnificanceof the transportation
revoltion.

Terms, People, and Places

capital Eli Whitney
enterrse npee
entepreneur Liverpol
pitingougsten  Mancheste
Note Taking

Reading SKill: Identify Causes and Effects il
in the circls of a concept web ke the one below
with thekey factors that helped Brtan take an eatly
lead in industralizaion. In  separate concept b,
il th effcts of Brtan's ealy lead.

Early tain ticket

\WITNESS HISTORY M0 4o
Riding the Railway

One ofthe mostinportantdevlopment of he

Inustial Revlution s th creato of  counryide

vy netvork.The wrkd st mfral e went

rom Uvepootto Mancester i Enlnd.Fanny Keble,
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pasengers

6w were ntodiced o he il engine whichwas to
g s slongteai... T snorting e anil,

arted a sbout e s anhou...Youcart

imagine how stang e o g o
s without any e couseof progeess e than
the magical machine

Focus Question Wit ey fcossoved s o

led th wayinthe sl Revoltion?

Leads the Way

When agricultural practices changed in the eighteenth century,
more food was able to be produced, which in turn fueled population
growth in Britain. The agricultural changes also loft many formers
homeless and jobless. These two factors led to a population boom in
the cities as people migrated from rural England into towns and cit-
ies. This population increase, in turn, created a ready supply of
lubor to mine the coal, build the factories, and run the machines.
The start of the Industrial Revolution in Britain can bo attributed
to many factors. Population growth was just oo of them.

Why Britain?

What characteristics of cighteenth-century Britain made it ripe
for industrialization? Historians cito soveral reasons for Britain's
lead.

Natural Resources Abound Britain had the advantage of
plentiful natural rosources such as natural ports and navigablo
rivers, Rivers supplicd water power and allowed for the construc-
tion of canals. These canals increased accessibilty for trade and
were instrumental in bringing goods to market. In addition, Brit-
ain was able to establish communications and transport relatively
choaply due to it casy accessibility o the sca from all points. Brit-
ain's plentiful supply of coal was fundamental to its industrializa-
tion and was used to power stcam engines. Vast supplics of iron
were available to be used to build the new machines.
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The Effects of Demand and Capital In the 1700s, Britain had
plenty of skilled mechanics who were cager to meet the growing demand
for new, practical inventions. This ready workforce, along with the popu-
lation explosion, boosted demand for goods. In order to increase the pro-
duction of goods 1o meet the demand, however, another key ingredient
was needed. Money was necessary to start businesses.

From the mid-1600s to 17005, trade from a growing overscas empire
helped the British cconomy prosper. Beginning with the slave trade, the
business class accumulated capital, or money used to invest in enter-
prises, An enterprise is a business organization in an area such as ship-
ping, mining, railroads, or factorics. Many businessmen were ready to
risk their capital in new ventures due to the healthy economy.

In addition to the advantages already cited, Britain had a stable gov-
ornment, that supported cconomic growth, While other countries in
Europe faced river tolls and other barriers, Britain did not. The govern-
ment built a strong navy that protected its empire, shipping, and over-
scas trade. Although the upper class tended to look down on business
people, it did not reject the wealth produced by the new entreprencurs.
These entreprencurs were those who managed and assumed the finan-
cial risks of starting new businesses.

@ Checkpoint What conditions in Britain paved the way for the
Industrial Revolution?

Resources and Industries in England, 1750
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Map Skills Plntiulsuppliesof oal,
advancements in the textie industry,
iran smeltng, and the manufacturing of
iran goods contributed to Britan's o
tion asthe world' leading industrial
nation i the late eighteenth century
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Draw Inferences What were the
industral advantages o th rivers
during thi time?
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The Textile Industry Advances

Thse tetle macines were constrced t ncrease The Industrial Revolution first took hold in Britain's
catton producton.The fing shuttesped up weaving, largest industry—textiles In the 16005, cotton cloth
whiethe pining enn an the vatrframe imported from Tndia had become popular, British mer-
e chants tried to organize a catton coth industry at hom.
these inventions change the textile indusry? They developed the putting-out system, also known as

eottago industry, in which raw cotton was distributod to
peasant families who spun it o thread and then wove
the thread into cloth in their own homes. Skiled artisans
i the towns then finished and dyed the cloth,

John Kay's
fing shutde, 1733 »-
Inventions Speed Production Under the putting-out
system, production was slow. As the demand for cloth
grew, inventors came up with a siring of remarkable
devices that revolutionized the British toxtile industry.
For example, John Kay's flying shuttle enabled weavers
to work so fast that they soon outpaced spinners. James
Hargreaves solved that problem by producing the spin-
ning jenny in 1764, which spun many threads at the
same time. A few years later, in 1769, Richard Arkwright
patented the water frame, which was a spinning machine
that could be powered by water.

Meanwhile, in America, these faster spinning and
wweaving machines presented a challenge—how to pro-
duce enough cotton to keep up with England. Raw cotton
grown in the South had to be cleancd of dirt and seeds by
‘hand, a time-consuming task. To solve this, E1i Whitney
invented a machine called the cotton gin that separated
the secds from the raw cotton at a fast rate. He finished
the cotton gin in 1793, and cotton production increased
exponentially

< James Hargreaves”
spinningjenny, 1764

Richard Arkriht's
water frame, 1769 >

Factories Are Born in Britain The new machines
doomed the putting-out system. They were too large and
expensive to be operated at. home. Instead, manufacturers built long.
sheds to house the machines. At first, they located the sheds near rapidly
‘moving streams, harnessing the water pawer to run the machines. Later,
‘machines were powered by steam engines.

Spinners and weavers now came cach day to work in these first facto-
ries, which brought together workers and machines to produce large
quantities of goods. Barly observers were awed at the size and output of
these establishments. One onlooker noted: “The same [amount) of labor
is now performed in one of these structures which formerly oceupicd the
industry of an entire district.”

& Checkpoint What led to the advancement of the Britsh texile
industry?

The Transportation Revolution

As production increased, entreprencurs needed faster and cheaper meth-
ods of moving goods from place o place. Some capitalists investcd in
turnpikes, private roads built by entrepreneurs who charged travelers a
toll or fie, 1o use them. Goods traveled faster as a rosult, and turnpikes
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‘soon linked every part of Britain. Other entreprencurs had canals dug to
conncet rivers together or to connect inland towns with coastal ports
Engincers also buill stronger bridges and upgraded harbors o help the
expanding overseas trade.

Canals Boom During the late 1700s and early 1800s, factories nceded
an efficient, inexpensive way to reccive coal and raw materials and then
t0 ship finished goods to market. In 1763, when the Bridgewater canal
opened, it not only made a proft from tolls, but it cut in half the price of
coal in Manchester. The success of this canal sct off a canal-building
feenzy. Entreprencurs formed companics to construct canals for profi
Not all the canals that were bult had cnough traffc to support them,
however, and bankruptcy often resulicd. Then, beginning in the 1830s,
canals lost.their importance as steam locomotives made railroads the
new preferred form of transportation.

Welcome the Steam Locomotive It was the invention of the steam
locomotive that made the growth of railroads possible. In the carly
18005, pioncers like George Stephenson developed steam-powered loco-
motives to pull carriages along iron rails. The railroad did not have to fol-
low the course of a river, This meant that tracks could go places where
rivers did not, allowing factory owners and merchants 1o ship goods
swiftly and cheaply over land. The worlds first major rail line, from
Liverpool to Manchester, opened in England in 1830. In the following
decades, railroad travel became faster and railroad building boomed. By
1870, rail lines crisscrossed Britain, Europe, and North America.

One Thing Leads to Another As the Industrial Revolution got under
way, it triggered a chain reaction. Once inventors developed machines
that could produce large quantities of goods more efficiently, prices fell
Lower prices made goods more affordable and thus created more con-
sumers who further fed the demand for goods. This new cycle caused a
wave of economic and social changes that dramatically affected the way.
‘people lived.

@ Checkpoint Why was the development o railroads important to
industrialization?

Assessment "

 Terms, People, and Places Comprehension and Critcal Thinking

1. For each term, person, or place listed at 3. Analyze Information Explain how each
the beginning of the section, wite asen-  of the following helped contribute to

tence explaning s sgnfcance demand for consumer goods in Siai:

Note Taking pptan oin 1) e

2. Reading SKill: dentify Causesand 4. Determine Relevance What was the
Effects Use your completed concept  sgnificance of new machines to th tex-

wiebs 0 answerthe Focus Question:What e ndustry?

ey factors llowed Bitain o lead the 5. Summarize. Explan how advances in

way i the Industria Revoluton? transportation contributed to Bitain’s
global wade,

Vocabulary Builder
(DK ad2) . ten-year periods

Progress Monitoring Online
For:Seltquiz with vobulary pracice
Vb Code:na 1921

® writing About History
Quick Wite:Create a Flowchart Fowcharts
are useful toos o helpyou wite an explana-
tor essay. reate a flowchart to show the.
changes that occured inthe textle industry.
Be sure tha the sequence of events i clat





